FCC ID: VBA-EF203T1
Intertek |C:7098A-EF203T 1

Tedt Data
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FCC ID: VBA-EF203T1
Intertek |C:7098A-EF203T 1

1. Fundamental & Spurious Emission & Restrict band radiated emission
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FCC ID: VBA-EF203T1
Intertek |C:7098A-EF203T 1

Restrict band
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Intertek

Horizontal

FCC ID: VBA-EF203T 1

1000-5000 MHz

IC:7098A-EF203T1
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FCC ID: VBA-EF203T1
Intertek |C:7098A-EF203T 1
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FCC ID: VBA-EF203T1
Intertek |C:7098A-EF203T 1

Restrict band
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Verticd

FCC ID: VBA-EF203T 1
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FCC ID: VBA-EF203T 1
IC:7098A-EF203T1

Intertek

2. Deactivatingtime

i Keysight Spectrum Analyzer - Swept 54
RF C [ SENSE:INT] [ ALIGN AUTO  [02:49:01 PMJ

Marker 1 A -460.000 ms Avg Type: Log-Pwr TRACE]
PNO: Wide () 1Mig: Free Run Avg|Hold: 28/100 X

IFGain:Low Atten: 10 dB Select Marker’

AMkr1 -460.0 ms 1
19 gBidiv Ref 0.00 dBm  Eetossmesemopnesesene

Iﬂlﬁllﬁl

Normal

Center 433.920000 MHz Span 0 Hz

Res BW 100 kHz #VBW 300 kHz Sweep 10.00 s (1001 pts)|
E STATUS
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FCC ID: VBA-EF203T1
Intertek |C:7098A-EF203T 1

3. Emission bandwidth

ri Keysight Spectrum Analyzer - Swept SA
1 RF 50Q DC [ SENSE:INT] [ ALIGN AUTO
Marker 2 A -408.000000 kHz ) Avg Type: Log-Pwr
=— Trig: Free Run Avg|Hold:>100/100

)
IFGain:Low " Atten: 10 dB

@@%l

Select Marker’
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IC:7098A-EF203T1

FCC ID: VBA-EF203T 1

e
-
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=

4. Duty Cycle

[03:46:42 PMIun 17, 2015

ALIGN AUTO

Avg Type: Log-Pwr

50Q DC

RF

Marker 2 A 45.3000 ms

ﬁ Keysight Spectrum Analyzer - Swept SA

2

Select Marker

Normal

Delta

Fixed>

off

Properties»

10f2

Atten: 10 dB

PNO: Wide ~»— Trig: Free Run

IFGain:Low

Ref 0.00 dBm

10 dBidiv

Sweep 100.0 ms (1001 pts)

#VBW 300 kHz

Res BW 100 kHz

MSG

STATUS
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FCC ID: VBA-EF203T 1

Intertek |C:7098A-EF203T 1

BE Keysight Spectrum Analyzer - Swept SA
T
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SENSE:INT| [ ALIGN AUTO 03:52:38 PMJun
Avg Type: Log-Pwr TRACE

@@I&Il

PNO: Wide ~—»— 1rig: Free Run
IFGain:Low Atten: 10 dB

SelectMarker'

I_;

Normal

Delta

Fixedl>

|

Properties»

More
10f2

Center 433.920000 MHz Span 0 Hz

Res BW 100 kHz #VBW 300 kHz Sweep 40.00 ms (1001 pts) —l

IM SG STATUS
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FCC ID: VBA-EF203T 1
IC:7098A-EF203T1

Intertek

ri Keysight Spectrum Analyzer - Swept SA
{ RF 502 DC [ SENSE:INT] [ ALIGN AUTO  [03:53:44 PMJun 17,2015
Marker 2 A 960.000 ps Avg Type: Log-Pwr TEE

PNO: Wide —»— 1rig: Free Run
IFGain:Low Atten: 10 dB

= e |

Select Marker.
2

Ref 0.00 dBm

Normal

Delta

Fixedl>

L
1 1nn
Res BW 100 kHz #VBW 300 kHz Sweep 40.00 ms (1001 pts)

MSG STATUS

All the keys were assessed and the test data with maximum duty cycle was listed above.
The worst Duty cycle= (11*0.96+ 0.32* 14) / 45.30 = 0.33
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